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©UìÊ ◊ÊäÿÁ◊∑§ ¬⁄UËˇÊÊ, 2015
SENIOR SECONDARY EXAMINATION, 2015

∑Î§Á· ÁflôÊÊŸ
AGRICULTURE

‚◊ÿ — 3 
1
4  ÉÊá≈U

¬ÍáÊÊZ∑§ — 56

¬⁄UËˇÊÊÁÕ¸ÿÊ¥ ∑§ Á‹∞ ‚Ê◊Êãÿ ÁŸŒ̧‡Ê —
GENERAL INSTRUCTIONS TO THE EXAMINEES :

1. ¬⁄UËˇÊÊÕË¸ ‚fl¸¬˝Õ◊ •¬Ÿ ¬˝‡Ÿ¬òÊ ¬⁄U ŸÊ◊Ê¢∑§ •ÁŸflÊÿ¸Ã— Á‹π¥ –
Candidate must write first his / her Roll No. on the question
paper compulsorily.

2. ‚÷Ë ¬˝‡Ÿ ∑§⁄UŸ •ÁŸflÊÿ¸ „Ò¥U –
All the questions are compulsory.

3. ¬˝àÿ∑§ ¬˝‡Ÿ ∑§Ê ©UûÊ⁄U ŒË ªß¸ ©UûÊ⁄U-¬ÈÁSÃ∑§Ê ◊¥ „UË Á‹π¥ –
Write the answer to each question in the given answer-book
only.

4. Á¡Ÿ ¬˝‡ŸÊ¥ ◊¥ •ÊãÃÁ⁄U∑§ πá«U „Ò¥U, ©UŸ ‚÷Ë ∑§ ©UûÊ⁄U ∞∑§ ‚ÊÕ „UË Á‹π¥ –
For questions having more than one part, the answers to those
parts are to be written together in continuity.

5. ¬˝‡Ÿ-¬òÊ ∑§ Á„UãŒË fl •¢ª˝¡Ë M§¬ÊãÃ⁄U ◊¥ Á∑§‚Ë ¬˝∑§Ê⁄U ∑§Ë òÊÈÁ≈U / •ãÃ⁄U / Áfl⁄UÊœÊ÷Ê‚
„UÊŸ ¬⁄U Á„UãŒË ÷Ê·Ê ∑§ ¬˝‡Ÿ ∑§Ê ‚„UË ◊ÊŸ¥ –
If there is any error / difference / contradiction in Hindi &
English versions of the question paper, the question of Hindi
version should be treated valid.
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1. ¬Í‚Ê ‚¢SÕÊŸ mÊ⁄UÊ Áfl∑§Á‚Ã ‚⁄U‚Ê¥ ∑§Ë ŒÊ Á∑§S◊Ê¥ ∑§ ŸÊ◊ Á‹Áπ∞ –

Write the names of any two varieties of Mustard which are developed

by the Pusa Institute. 
1
2 + 

1
2 = 1

2. ‡Ê∑¸§⁄UÊ flÊ‹Ë ŒÊ »§‚‹Ê¥ ∑§ ŸÊ◊ Á‹Áπ∞ –

Write the names of any two sugar crops. 
1
2 + 

1
2 = 1

3. ¬ÊÒœÊ¥ ◊¥ ¬Ê≈UÁ‡Êÿ◊ Ãàfl ∑§Ë ∑§◊Ë ∑§ ∑§Êß¸ ŒÊ ‹ˇÊáÊ Á‹Áπ∞ –

Write any two symptoms of Potassium deficiency in plants. 
1
2 + 

1
2 = 1

4. ¬ÊÒœÊ¥ ◊¥ Ä‹Ê⁄UËŸ Ãàfl ∑§ ∑§Êß¸ ŒÊ ∑§Êÿ¸ Á‹Áπ∞ – 

Write any two functions of chlorine element in plants. 
1
2 + 

1
2 = 1

5. ªÛÊ ∑§Ë »§‚‹ ◊¥ Á‚¢øÊß¸ „UÃÈ ŒÊ ∑˝§ÊÁãÃ∑§ •flSÕÊÿ¥ Á‹Áπ∞ – 

Give two critical stages of irrigation in Sugarcane. 
1
2 + 

1
2 = 1

6. ª„Í°U ∑§Ë »§‚‹ ◊¥ ““•Êÿ‚Ê¬˝Ê≈U˜ÿÍ⁄UÊŸ”” π⁄U¬ÃflÊ⁄U ŸÊ‡ÊË ∑§Ê Á∑§‚ ∑˝§ÊÁãÃ∑§ •flSÕÊ ◊¥ ¬˝ÿÊª

Á∑§ÿÊ ¡ÊÃÊ „ÒU ?

At which critical stage is the "Isoproturan" weedicide used in wheat

crop ? 1

7. œÊŸ ∑§Ë øÊ⁄U ©UÛÊÃ Á∑§S◊Ê¥ ∑§ ŸÊ◊ ’ÃÊß∞ – 

Write four improved varieties of Paddy. 4 × 14 = 1
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8. ∑Ò§ÁÀ‚ÿ◊ ∑§Ë ∑§◊Ë ‚ ©Uà¬ÛÊ ŒÊ ⁄UÊªÊ¥ ∑§ ŸÊ◊ Á‹Áπ∞ –

Write the names of two diseases due to the deficiency of Calcium.

1
2 + 12 = 1

9. ’Ê¡⁄UÊ ∑§ „UÁ⁄UÃ ’Ê‹Ë ⁄UÊª ∑§ ∑§Êß¸ ŒÊ ‹ˇÊáÊ Á‹Áπ∞ –

Write any two symptoms of green ear disease of pearl millet. 1

10. Áfl≈UÊÁ◊Ÿ «UË ∑§ ŒÊ ∑§Êÿ¸ Á‹Áπ∞ –

Write any two functions of Vitamin D. 1

11. „UÁ⁄UÿÊ‹Ë ‚ •Ê¬ ÄÿÊ ‚◊¤ÊÃ „Ò¥U ?

What do you understand by Lawn ? 1

12. •‹¢∑Î§Ã ©UlÊŸ ’ŸÊŸ ∑§Ë ∑§ÊÒŸ-∑§ÊÒŸ ‚Ë ‡ÊÒ‹Ë „Ò¥U ?

Which styles are used for ornamental gardening ? 1
2 + 12 = 1

13. •¢Ã⁄UÊ-‡ÊSÿŸ ‚ •Ê¬ ÄÿÊ ‚◊¤ÊÃ „Ò¥U ?

What do you understand by Interculture ? 1

14. ◊ÎŒÊ ‚¢⁄UøŸÊ ( Soil structure )  Á∑§‚ ∑§„UÃ „Ò¥U ? ◊ÎŒÊ ‚¢⁄UøŸÊ ∑§Ê Á∑§ÃŸ ÷ÊªÊ¥ ◊¥ ’Ê°≈UÊ

¡Ê ‚∑§ÃÊ „ÒU ?

What is soil structure ? In how many parts can soil structure be

divided ? 1 + ( ) 4 ×  
1
4  = 2
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15. ⁄UÊ¡SÕÊŸ ◊¥ ¬ÊÿË ¡ÊŸ flÊ‹Ë ““◊L§ ŸŒËÿ ◊ÎŒÊ•Ê¥”” ∑§Ê ‚¢ˇÊ¬ ◊¥ fláÊ¸Ÿ ∑§ËÁ¡ÿ – 

Describe in brief the "Desert Riverine Soil" found in Rajasthan.  2

16. ““„U⁄UË πÊŒ”” ∑§ ∑§Êß¸ øÊ⁄U ‹Ê÷ Á‹Áπ∞ – 

Write any four merits of "Green Manuring". 4 × 12 = 2

17. Ÿ„U⁄UÊ¥ mÊ⁄UÊ Á‚¢øÊß¸ ∑§ ∑§Êß¸ ŒÊ ‹Ê÷ ∞fl¢ ŒÊ „UÊÁŸÿÊ° Á‹Áπ∞ – 

Write any two merits & two demerits of Canal Irrigation. 1 + 1 = 2

18. Á‚¢øÊß¸ ∑§Ë ÕÊ‹Ê ÁflÁœ ∑§Ê ÁøòÊ ’ŸÊßÿ ∞fl¢ ß‚ ÁflÁœ ∑§Ê fláÊ¸Ÿ ∑§ËÁ¡∞ –

Draw a diagram and describe the Basin method of irrigation.
1 + 1 = 2

19. π⁄U¬ÃflÊ⁄U ÁŸÿãòÊáÊ ∑§ ∑§Êß¸ øÊ⁄U Á‚hÊãÃÊ¥ ∑§Ê fláÊ¸Ÿ ∑§ËÁ¡∞ –

Describe any four principles of weed control. 4 × 12 = 2

20. “»§‚‹ ø∑˝§” ∑§Ê ¬Á⁄U÷ÊÁ·Ã ∑§ËÁ¡ÿ – ÁŸÿÊÁ¡Ã »§‚‹ ø∑˝§ ∑§ ∑§Êß¸ ŒÊ ‹Ê÷ Á‹Áπ∞ – 

Define 'Crop rotation' and write any two merits of planned crop

rotation. 1 + 1 = 2

21. “Áfl⁄U‹Ÿ” ∞fl¢ “¿°UªŸÊ” ∑§Ë ÁflÁœÿÊ¥ ∑§Ê fláÊ¸Ÿ ∑§ËÁ¡∞ –

Write the methods of 'Thinning' & 'Head backing'. 1 + 1 = 2

22. “≈UË” ∑§Á‹∑§ÊÿŸ ∑§Ê ŸÊ◊Ê¢Á∑§Ã ÁøòÊ ’ŸÊ∑§⁄U fláÊ¸Ÿ ∑§ËÁ¡∞ – 

Describe the 'T' budding with labelled diagram. 1 + 1 = 2

23. ¤ÊÊ«∏UË Á∑§‚ ∑§„UÃ „Ò¥U ? ∑§Êß¸ øÊ⁄U ™°§øÊß¸ flÊ‹Ë ¤ÊÊÁ«∏UÿÊ¥ ∑§ ŸÊ◊ Á‹Áπ∞ – 

What are shrubs ? Write the names of any four high shrubs.

1 + ( ) 4 ×  
1
4  = 2
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24. ÁŸêŸÁ‹ÁπÃ ¬⁄U ‚¢ÁˇÊåÃ Á≈Uå¬áÊË Á‹Áπ∞ —

(i) ÁŸ¡Ë ©UlÊŸ

(ii) ‚Êfl¸¡ÁŸ∑§ ©UlÊŸ –

Write short notes on the following : 1 + 1 = 2

(i) Private Garden

(ii) Public Garden.

25. π⁄U¬ÃflÊ⁄UÊ¥ ∑§ ÁflSÃÊ⁄U ∑§Ë ¿U— ÁflÁœÿÊ¥ ∑§Ê fláÊ¸Ÿ ∑§ËÁ¡∞ – 

Explain the six methods of dissemination of weeds. 6 × 
1
2 = 3

26. •SÕÊß¸ »§‹ ¬Á⁄U⁄UˇÊáÊ ÄÿÊ „ÒU ? •SÕÊß¸ »§‹ ¬Á⁄U⁄UˇÊáÊ ∑§Ë ŒÊ ÁflÁœÿÊ¥ ∑§Ê fláÊ¸Ÿ ∑§ËÁ¡∞ –

•ÕflÊ

»§‹ ¬Á⁄U⁄UˇÊáÊ ÄÿÊ „ÒU ? ß‚∑§ ◊ÈÅÿ Á‚hÊãÃ Á‹Áπ∞ – 

What is temporary fruit preservation ? Describe two methods of

temporary fruit preservation. 1 + 2 = 3

OR

What is fruit preservation ? Write major principles of fruit

preservation. 1 + 2 = 3

27. ∑§ø¬ ÄÿÊ „ÒU ? ∑§ø¬ ’ŸÊŸ ∑§Ë ÁflÁœ ∑§Ê fláÊ¸Ÿ ∑§ËÁ¡ÿ –

•ÕflÊ

¡Ò◊ ∑§Ê ¬Á⁄U÷ÊÁ·Ã ∑§ËÁ¡ÿ – ¡Ò◊ ’ŸÊŸ ∑§Ë ÁflÁœ ∑§Ê fláÊ¸Ÿ Á‹Áπ∞ –
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What is ketchup ? Explain the method of ketchup preparation. 
1 + 2 = 3

OR

Define Jam. Write the method of Jam preparation. 1 + 2 = 3

28. Á‚¢øÊß¸ ∑§ øÊ⁄U ‚Ã„UË ¡‹dÊÃÊ¥ ∑§Ê fláÊ¸Ÿ ∑§ËÁ¡∞ –

Describe four surface water sources of irrigation. 1 + 1 + 1 + 1 = 4

29. øŸÊ ∑§Ë flÒôÊÊÁŸ∑§ πÃË ∑§Ê ÁŸêŸÁ‹ÁπÃ Á’ãŒÈ•Ê¥ ◊¥ fláÊ¸Ÿ ∑§ËÁ¡∞ —

(i) ÷ÍÁ◊ (ii) øÊ⁄U ©UÛÊÃ Á∑§S◊¥

(iii) ’ÈflÊß¸ ∑§Ê ‚◊ÿ (iv) ’Ë¡ ∑§Ë ◊ÊòÊÊ –

•ÕflÊ

∑§¬Ê‚ ∑§Ë flÒôÊÊÁŸ∑§ πÃË ∑§Ê ÁŸêŸÁ‹ÁπÃ Á’ãŒÈ•Ê¥ ◊¥ fláÊ¸Ÿ ∑§ËÁ¡∞ —

(i) ¡‹flÊÿÈ (ii) øÊ⁄U •◊Á⁄U∑§Ÿ Á∑§S◊¥

(iii) πÊŒ ÃÕÊ ©Ufl¸⁄U∑§ (iv) ’ÈflÊß¸ ∑§Ê ‚◊ÿ –

Describe the scientific cultivation of Gram crop on the following

points : 1 + 1 + 1 + 1 = 4

(i) Soil (ii) Four improved varieties

(iii) Sowing time (iv) Seed rate.

OR

Describe the scientific cultivation of Cotton crop on the following

points : 1 + 1 + 1 + 1 = 4

(i) Climate (ii) Four American varieties

(iii) Fertilizer and manure (iv) Sowing time.
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30. •◊M§Œ ∑§Ë πÃË ∑§Ê fláÊ¸Ÿ ÁŸêŸ Á’ãŒÈ•Ê¥ ∑§ •ÊœÊ⁄U ¬⁄U ∑§ËÁ¡∞ —

(i) ¡‹flÊÿÈ (ii) øÊ⁄U ©UÛÊÃ Á∑§S◊¥

(iii) Á‚¢øÊß¸ (iv) ¬˝flœ¸Ÿ –

•ÕflÊ

‚flãÃË ÿÊ ªÈ‹ŒÊ©UŒË ∑§Ë πÃË ∑§Ê ÁŸêŸ Á’ãŒÈ•Ê¥ ∑§ •ÊœÊ⁄U ¬⁄U fláÊ¸Ÿ ∑§ËÁ¡∞ —

(i) øÊ⁄U ©UÛÊÃ Á∑§S◊¥ (ii) ¬˝flœ¸Ÿ

(iii) πÊŒ ∞fl¢ ©Ufl¸⁄U∑§ (iv) ©UlÊÁŸ∑§ Á∑˝§ÿÊÿ¥ –

Describe the cultivation of Guava on the basis of the following points :

1 + 1 + 1 + 1 = 4

(i) Climate (ii) Four improved varieties

(iii) Irrigation (iv) Propagation.

OR

Describe the cultivation of Chrysanthemum on the basis of the

following points : 1 + 1 + 1 + 1 = 4

(i) Four improved varieties (ii) Propagation

(iii) Fertilizer and manure (iv) Horticultural activities.


